Hh B ER
/1 N
JIRERI AN ‘ /o
A ‘ \ ASAS
© - )
j | SR
| | | 8
% % w
(U — ) e
. 20
25 >ﬁ—%/%
aE B H ®D W1 W2 T | &4E Wb & Hh R IR R
DCF-20F | 32 46 30.5 | 3.5 | - | 1.0 | Mex20 FEP-20
DCF-30F | 38 57 41 | 45.4 | 38 [ 1.2 | m6x20 FEP-30
DCF-40F | 38 | 72.5 55 | 59.4 | 38 | 1.2 | M6x20 FEP-40
DCF-50F | 38 | 82.5 66 | 70.4 | 38 | 1.2 | M6x20 FEP-50
DCF-65F | 38 | 102.5 | 86 91 80 | 1.5 | M6x20 FEP-65
DCF-80F | 38 120 103 | 108 | 80 | 1.5 | M6x25 FEP-80
DCF-100F | 38 | 160.5 | 130 | 135 | 80 | 1.5 | M6x25 FEP-100
DOF-125F | 40 | 175.2 | 163 | 169 | 80 | 2.0 | M8x25 FEP-125
4) A X >TEFHRNERY S, &l T %
3) () fEIZDCF-125F >~ 3kdi, RE SS5LYYRFA
2) DCF-125F I BT DEE <. & F9+99vF
ED 2G4 XL EICHET 5, DCF—_ F
(M| HTF7FTEYFARILE| SUS 1 (1)
(3) 2R suUs 1 t =1 (&)
F£= MF36971G
2| #9r2)vTB | sus | 1 EESERS m
R T HI%H%«H:
HE £ 5 # B {825 E



mika
Mマーク


